LGN — HW)  Solultony

’ﬂ a\ (1004(1/ 101 H)Q: Tt £ a ‘ﬂ ’34’[‘( 1”- @‘5}12?5740

(oo o, - (0,56

& 66
(@w /w@\f (13'/@8\15
7 B ¥y
b) 9?'6)8 qw, 10)13 (ZA’CJ(G: :}.8(+ 2. Xo‘*“ (.X,\‘«“—(%g/af)'o
B~ A c
J &CB A(il( ;LU@/OOH ,1\9/101101 0{0]\ @03 537—’%4‘1 W4 l6 1016 \aictsg?
o e =il
o 00'” 40\0 o~ 9. .o Teer § _.@54430013?\\15‘5
—@C_MA% FMF)L

R ® =

A 101 1100 1019 10! 10\ 1000 1ol m‘{otooonun) -
) gt e gy g,

7’) a\ X\Yl**zxsﬂ('s)(? "Q(f‘;(l) (thf3 (:K‘Sﬂ—‘h

= 4 % £ X ﬁi('.i})?}w,%gx,k Xy %%y 1% %, X }_x_+x1x3x‘,

_/}{q/—t/x%{'ﬂ(xb /K-(XX}“YXV/*/{[T;L\‘

—

= Xt i =D 6 liverds /
b) Kk Xad XXy = Qgﬂﬂxs) «ﬂ }/T/X xwm. /\,«x\u *%y"
£ et T, =) 6 liteals

K ka0 & Ky Xg = (& arf) (Tane). (k)

7/\ ff‘/ )‘3'\)/7&‘1.;\ XXXt K "‘f"ﬂ\x‘t%fw SRR x,*x)x(* B ERRLLE
A TT%, A »(;x.j« T yc,ws,(uxlncsxﬁ A x,x4

..H(\Y-,_‘\Y‘/ *qu% W/&WW X(‘_—VW
Y

=X\X1“X|X3’\'};X’;;:\- X)_,x("\' XJX% = ZXL'I.YlY-_)‘kX'LXS«ff}X‘T :% ? ll"'e”fls




Eodr\ oftow cocrespoN)S to a4

LroceiMon 1A 3.}3*‘ ONE. oC f‘\ﬁ ?0‘0-4“'5 .

2o &) XX T 0 Tkt Kot Ty = X, (1 Fh) X (%)

o a
_’_—/

:x‘,q-“(\.ﬁ :(‘,(‘*E\()(\*a\s_ ot T\ou ax\«/&o/




b)) 0P oo ; - G

CO“*"’ A8C, + ABC, + A8 Ciy + ABC,
=5 /MC i /{"C t Aﬁcq -+ /{66

,owé’ CA’fE’{"C )C4 g+a”} (446—{/ >'(J-*é—4/i

St ¢

G = C}l + 040, ,? (A +8 0, ). C A +Q4Ciy /. /7 + 4'1“.:»;.-

\L ) "/";.'a: \ ) J Oren |
A
§a ( 4@[ ) 8 =8
| Cir
Cot= Ap4 c/z@zf), G,

—it = (A~+8). (Aor)+C, )

a88) B, =_5

Lo

’ LI
I 17 —‘L, 2\
! 7= A+E Cort







